

$\{x \in D_f \mid f(x) \in D_g\} \xrightarrow{\text{المجال}} D_f \rightarrow \sqrt{\log \frac{x-1}{2}} \rightarrow x-1 > 0 \rightarrow x > 1 \text{ (I)}$
 $\log \frac{x-1}{2} \geq 0 \rightarrow x-1 \geq 2 \text{ (II)}$
 $\rightarrow x \geq 3 \text{ (II)}$
 $I \cap II \rightarrow x \geq 3 = D_{f \circ g}$
 $D_g \rightarrow \sqrt{-(x-2)^2} \rightarrow x=2 \text{ (مجال محدد)}$
 $\ominus (x-2)^2 \geq 0 \rightarrow x=2$

$\sqrt{\log \frac{x-1}{2}} = 2 \rightarrow \log \frac{x-1}{2} = 4 \rightarrow x-1 = 2^4 \rightarrow x=17$

$\rightarrow \{17\} \cap [2, +\infty) \rightarrow \{17\} \rightarrow D_{f \circ g}$

$f \circ g(x) \rightarrow f(x^2 - 3x + 1) \rightarrow 2(x^2 - 3x + 1) - 5 \rightarrow 2x^2 - 6x + 1$

$g \circ f(x) \rightarrow g(2x - 5) \rightarrow (2x - 5)^2 - 2(2x - 5) + 1 \rightarrow 4x^2 - 8x + 25$

$\rightarrow 2x^2 - 6x + 1 = 4x^2 - 8x + 25 \rightarrow 2x^2 - 2x + 24 = 0 \rightarrow x^2 - x + 12 = 0$

$100 - \frac{2(11 \times 12)}{24} = 93 \rightarrow \text{جواب}$

$10 \leftarrow S = -\frac{b}{a}$
 $11 \times 12 \leftarrow P = \frac{c}{a}$

$g \circ f(x) = 2x^2 + 11 \rightarrow g(2x) = 2x^2 + 11 \rightarrow 2x = t \rightarrow x = \frac{t}{2} \rightarrow g(t) = 2\left(\frac{t}{2}\right)^2 + 11$

$\rightarrow g(t) = \frac{2}{4} t^2 + 11 \xrightarrow{(t=V)} g(t-V) = \frac{2}{4} (t-V)^2 + 11 \rightarrow \frac{2}{4} t^2 - \frac{2 \times 2}{4} t + 9 + 11$

$g_S \xrightarrow{x=V} \frac{2}{4} (t^2 - 4t + 4) - \frac{2 \times 2}{4} t + 9 + 11$
 $41 \times 25 - 12 \times 9 \times 25 + 2 \times 2 \times 25 = 4$

$\frac{-b}{2a} \leftarrow x_S$
 $k_{min} = 11$

$f \circ g \rightarrow 2x^2 - 6x - 1 \rightarrow 2g(x) - 1 = 2x^2 - 6x - 1 \rightarrow 2g(x) = 2x^2 - 6x + 1$

$g \circ f(x) \rightarrow g(2x - 4) \xrightarrow{I} (2x - 4)^2 - 2(2x - 4) + 1$
 $4x^2 - 8x + 16 - 4x + 8 + 1$

$f - g(x) \rightarrow \frac{2x^2 - 6x - 1}{2x^2 - 6x + 1} \rightarrow -1 \rightarrow -x + 5$

$2g(x) = 2f(x) - 1 \rightarrow -f(x) + 1 = 2f(x) - 2g(x) \rightarrow -f(x) + 1 = -2x + 10$
 $\rightarrow 2x + 1 = f(x)$

$2x + 1 - g(x) = -x + 5 \rightarrow -g(x) = -3x + 4 \rightarrow g(x) = 3x - 4$

$f \circ g(x) \rightarrow 2(3x - 4) + 1 \rightarrow 6x - 8 + 1 \rightarrow 6x - 7 \rightarrow \frac{6x - 7}{6} \rightarrow \Delta x = \frac{1}{6} \rightarrow a = \frac{1}{6}$

9

خدایِ این دلیله راه حل داره ! (۵)

④

INT

30

9

⑤

10

②